

County Distribution Detail Report through 06/02/2017

Aurora

Reporting Pe	eriod Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,293	1,777	0	3,070	\$3,837.50	\$77.79	\$3,759.71	0.70	\$2,631.80
12/2015	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	1:	\$2,637.05
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,637.05

Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	4,868	9,903	100	14,871	\$18,588.75	\$391.89	\$18,196.86	0.70	\$12,737.80
12/2015	0	700	0	700	\$875.00	\$0.00	\$875.00	0.70	\$612.50
							Entity Tota		\$13,350.30
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$13,350.30

Bennett

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	961	1,049	4	2,014	\$2,517.50	\$58.04	\$2,459.46	0.70	\$1,721.62
							Entity Total	:	\$1,721.62
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,721.62

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,388	3,626	11	6,025	\$7,531.25	\$151.46	\$7,379.79	0.70	\$5,165.85
12/2015	0	10	0	10	\$12.50	\$0.00	\$12.50	0.70	\$8.75

							Entity Tota	1:	\$5,174.60
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,174.60
Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	10,788	18,960	105	29,853	\$37,316.25	\$763.26	\$36,552.99	0.70	\$25,587.09
							Entity Tota	l:	\$25,587.09
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$25,587.09
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	11,560	24,094	232	35,886	\$44,857.50	\$951.38	\$43,906.12	0.70	\$30,734.28
12/2015	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity Tota	l:	\$30,737.78
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$30,737.78
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

	Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
	4/2017	2,872	3,406	7	6,285	\$7,856.25	\$164.81	\$7,691.44	0.70	\$5,384.01	
								Entity Total:		\$5,384.01	
								Adjustment:		\$0.00	
								Total Amoun	t:	\$5,384.01	
_											

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	635	373	1	1,009	\$1,261.25	\$26.47	\$1,234.78	0.70	\$864.35
							Entity Tota	:	\$864.35
							Adjustmen	::	\$0.00
							Total Amou	int:	\$864.35

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,861	5,822	16	8,699	\$10,873.75	\$228.37	\$10,645.38	0.70	\$7,451.77
							Entity Total	:	\$7,451.77
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,451.77
Campbell									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	825	1,380	8	2,213	\$2,766.25	\$55.33	\$2,710.92	0.70	\$1,897.64
							Entity Tota	l:	\$1,897.64
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,897.64

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,170	4,870	14	8,054	\$10,067.50	\$206.17	\$9,861.33	0.70	\$6,902.93
							Entity Total:		\$6,902.93
							Adjustment		\$0.00
							Total Amou	nt:	\$6,902.93

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	53	1,914	0	1,967	\$2,458.75	\$51.96	\$2,406.79	0.70	\$1,684.75
							Entity Total	:	\$1,684.75
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,684.75
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,205	2,236	65	3,506	\$4,382.50	\$98.15	\$4,284.35	0.70	\$2,999.05
							Entity Total	:	\$2,999.05

Adjustment: \$0.00

Total Amount: \$2,999.05

City of Sioux Falls, Lincoln (

City of Sloux Palls, I									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	5,534	19,146	274	24,954	\$31,192.50	\$697.89	\$30,494.61	0.70	\$21,346.23
							Entity Tota	l:	\$21,346.23
							Adjustment	t:	\$0.00
							Total Amou	int:	\$21,346.23
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,628	2,239	9	3,876	\$4,845.00	\$103.37	\$4,741.63	0.70	\$3,319.14
							Entity Tota	l:	\$3,319.14
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$3,319.14
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,021	6,942	54	9,017	\$11,271.25	\$243.40	\$11,027.85	0.70	\$7,719.50
							Entity Tota	l:	\$7,719.50
							Adjustment	t:	\$0.00
							Total Amou	int:	\$7,719.50
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	8,450	17,616	166	26,232	\$32,790.00	\$689.72	\$32,100.28	0.70	\$22,470.20
							Entity Tota	I:	\$22,470.20
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$22,470.20
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,450	492	5	1,947	\$2,433.75	\$50.11	\$2,383.64	0.70	\$1,668.55

	Entity Total:	\$1,668.55
	Adjustment:	\$0.00
	Total Amount:	\$1,668.55

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,764	4,783	31	8,578	\$10,722.50	\$240.45	\$10,482.05	0.70	\$7,337.44
12/2015	0	30	0	30	\$37.50	\$0.00	\$37.50	0.70	\$26.25
							Entity Tota Adjustmen		\$7,363.69 \$0.00
							Total Amo		\$7,363.69

Davison

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2017	6,185	12,845	233	19,263	\$24,078.75	\$496.94	\$23,581.81	0.70	\$16,507.27
12/2015	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	d:	\$16,509.91
							Adjustmen	it:	\$0.00

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,478	3,367	7	5,852	\$7,315.00	\$148.95	\$7,166.05	0.70	\$5,016.24
							Entity Total	:	\$5,016.24
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,016.24

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,256	2,742	6	5,004	\$6,255.00	\$132.81	\$6,122.19	0.70	\$4,285.53
12/2015	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

Total Amount:

\$16,509.91

Adjustment: \$0.00 **Total Amount:** \$4,288.16 Douglas **Reporting Period Telecom Lines** Surcharge Net Surcharge Entity Entity Amount Wireless Lines VOIP **Total Lines** Admin Fee Lines Percent 4/2017 1,445 1,998 5 3,448 \$4,310.00 \$87.65 \$4,222.35 0.70 \$2,955.65 Entity Total: \$2,955.65 Adjustment: \$0.00 **Total Amount:** \$2,955.65

Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,509	2,615	22	4,146	\$5,182.50	\$105.27	\$5,077.23	0.70	\$3,554.06
							Entity Total:		\$3,554.06
							Adjustment		\$0.00
							Total Amou	nt:	\$3,554.06

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,561	3,883	16	7,460	\$9,325.00	\$188.13	\$9,136.87	0.70	\$6,395.81
6/2015	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
12/2015	0	16	0	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
							Entity Tota	I:	\$6,415.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,415.06

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	993	1,318	5	2,316	\$2,895.00	\$57.94	\$2,837.06	0.70	\$1,985.94
							Entity Total:		\$1,985.94
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,985.94
_									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,598	4,928	152	7,678	\$9,597.50	\$214.23	\$9,383.27	0.70	\$6,568.29
							Entity Total	:	\$6,568.29
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,568.29
Gregory									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,014	3,400	4	5,418	\$6,772.50	\$144.43	\$6,628.07	0.70	\$4,639.65
							Entity Total	:	\$4,639.65
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,639.65

Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,102	1,325	5	2,432	\$3,040.00	\$60.81	\$2,979.19	0.70	\$2,085.43
							Entity Total		\$2,085.43
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,085.43

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,033	3,378	6	5,417	\$6,771.25	\$135.50	\$6,635.75	0.70	\$4,645.03
							Entity Total:		\$4,645.03
							Adjustment:		\$0.00
							Total Amour	it:	\$4,645.03
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,358	2,533	13	3,904	\$4,880.00	\$99.99	\$4,780.01	0.70	\$3,346.01
							Entity Total:		\$3,346.01

Adjustment: \$0.00

Total Amount: \$3,346.01

Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,083	2,858	21	3,962	\$4,952.50	\$103.73	\$4,848.77	0.70	\$3,394.14
							Entity Total	:	\$3,394.14
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,394.14
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	753	813	1	1,567	\$1,958.75	\$49.20	\$1,909.55	0.70	\$1,336.69
							Entity Total	:	\$1,336.69
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,336.69
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
3/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
4/2017	5,157	13,734	291	19,182	\$23,977.50	\$506.84	\$23,470.66	0.70	\$16,429.46
							Entity Total	:	\$16,439.96
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16,439.96
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,459	4,755	15	8,229	\$10,286.25	\$206.40	\$10,079.85	0.70	\$7,055.90
							Entity Total	:	\$7,055.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,055.90
Hyde									

Telecom Lines Wireless Lines

VOIP Total Lines

Surcharge

Admin Fee

Net Surcharge

Entity Entity Amount Percent

4/2017	829	1,005	2	1,836	\$2,295.00	\$47.14	\$2,247.86	0.70	\$1,573.50	
							Entity Tota	l:	\$1,573.50	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$1,573.50	
Jackson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	724	756	8	1,488	\$1,860.00	\$43.51	\$1,816.49	0.70	\$1,271.54	
							Entity Tota	l:	\$1,271.54	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$1,271.54	
Jerauld										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	1,034	1,187	1	2,222	\$2,777.50	\$55.97	\$2,721.53	0.70	\$1,905.07	
							Entity Tota	l:	\$1,905.07	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$1,905.07	
Jones										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	594	637	6	1,237	\$1,546.25	\$31.01	\$1,515.24	0.70	\$1,060.67	
							Entity Tota	l:	\$1,060.67	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$1,060.67	
Kingsbury										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	1,559	3,845	32	5,436	\$6,795.00	\$141.00	\$6,654.00	0.70	\$4,657.80	
6/2015	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88	

Entity Total: \$4,658.68 Adjustment: \$0.00

Total Amount: \$4,658.68

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,311	9,246	57	12,614	\$15,767.50	\$332.69	\$15,434.81	0.70	\$10,804.37
							Entity Total	:	\$10,804.37
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,804.37
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	8,841	14,883	136	23,860	\$29,825.00	\$622.03	\$29,202.97	0.70	\$20,442.08
							Entity Total	:	\$20,442.08
							Adjustment	:	\$0.00
							Total Amou	nt:	\$20,442.08

Lincoln

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	4,646	20,171	1,816	26,633	\$33,291.25	\$778.12	\$32,513.13	0.70	\$22,759.19
							Entity Total	:	\$22,759.19
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,759.19

Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,415	1,731	3	3,149	\$3,936.25	\$85.59	\$3,850.66	0.70	\$2,695.46
							Entity Total:		\$2,695.46
							Adjustment:		\$0.00
							Total Amour	t:	\$2,695.46

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,077	2,595	29	4,701	\$5,876.25	\$135.95	\$5,740.30	0.70	\$4,018.21

Entity Total:

\$4,018.21

							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,018.21
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,760	4,039	14	6,813	\$8,516.25	\$172.42	\$8,343.83	0.70	\$5,840.68
							Entity Tota	l:	\$5,840.68
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$5,840.68
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,141	1,452	1	2,594	\$3,242.50	\$71.69	\$3,170.81	0.70	\$2,219.57
							Entity Tota	I:	\$2,219.57
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$2,219.57
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,875	15,577	544	19,996	\$24,995.00	\$539.16	\$24,455.84	0.70	\$17,119.09
							Entity Tota	l:	\$17,119.09
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$17,119.09
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	649	615	2	1,266	\$1,582.50	\$31.70	\$1,550.80	0.70	\$1,085.56
							Entity Tota	l:	\$1,085.56
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,085.56
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,126	1,462	2	2,590	\$3,237.50	\$65.03	\$3,172.47	0.70	\$2,220.73

							Entity Total Adjustment Total Amou	::	\$2,220.73 \$0.00 \$2,220.73
Minnehaha							Total Amou	int.	ΨΖ,ΖΖΟ.ΤΟ
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	51,597	136,033	2,350	189,980	\$237,475.00	\$5,001.41	\$232,473.59	0.70	\$162,731.51
12/2015	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Total	:	\$162,734.14
							Adjustment	:	\$0.00
							Total Amou	int:	\$162,734.14
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,564	4,303	15	5,882	\$7,352.50	\$171.57	\$7,180.93	0.70	\$5,026.65
							Entity Total	:	\$5,026.65
							Adjustment	:	\$0.00
							Total Amou	int:	\$5,026.65
Pennington									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2017	29,423	69,558	1,405	100,386	\$125,482.50	\$2,646.57	\$122,835.93	0.70	\$85,985.15
12/2015	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
							Entity Tota	l:	\$85,997.41
							Adjustmen	t:	\$0.00

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,892	2,334	6	4,232	\$5,290.00	\$115.84	\$5,174.16	0.70	\$3,621.91

Total Amount:

\$3,621.91

\$85,997.41

							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,621.91
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	1,440	1,692	4	3,136	\$3,920.00	\$78.85	\$3,841.15	0.70	\$2,688.81
							Entity Tota	I:	\$2,688.81
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,688.81
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	4,162	4,417	7	8,586	\$10,732.50	\$238.31	\$10,494.19	0.70	\$7,345.93
							Entity Tota	I:	\$7,345.93
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,345.93
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	985	1,774	0	2,759	\$3,448.75	\$69.00	\$3,379.75	0.70	\$2,365.83
							Entity Tota	l:	\$2,365.83
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,365.83
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,236	4,313	7	6,556	\$8,195.00	\$167.82	\$8,027.18	0.70	\$5,619.03
							Entity Tota	l:	\$5,619.03
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,619.03
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	840	2,086	13	2,939	\$3,673.75	\$75.26	\$3,598.49	0.70	\$2,518.94

							Entity Total: Adjustment: Total Amount:		\$2,518.94 \$0.00 \$2,518.94	
Sully							Total Allo	unt.	ψ 2, 510.94	
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	859	1,094	1	1,954	\$2,442.50	\$48.93	\$2,393.57	0.70	\$1,675.50	
							Entity Tota	al:	\$1,675.50	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$1,675.50	
Todd										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2017	0	3	114	117	\$146.25	\$6.18	\$140.07	0.70	\$98.05	
12/2015	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75	

Entity Total:	\$99.80
Adjustment:	\$0.00
Total Amount:	\$99.80

Total Amount:

\$7,181.28

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,838	3,677	11	6,526	\$8,157.50	\$163.80	\$7,993.70	0.70	\$5,595.59
							Entity Total:		\$5,595.59
							Adjustment:		\$0.00
							Total Amoun	it:	\$5,595.59
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,645	5,717	15	8,377	\$10,471.25	\$212.28	\$10,258.97	0.70	\$7,181.28
							Entity Total:		\$7,181.28
							Adjustment:		\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	3,705	9,643	431	13,779	\$17,223.75	\$424.90	\$16,798.85	0.70	\$11,759.20
							Entity Total:		\$11,759.20
							Adjustment:		\$0.00
							Total Amour	nt:	\$11,759.20
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	2,410	3,480	70	5,960	\$7,450.00	\$149.68	\$7,300.32	0.70	\$5,110.22

Entity Total:	\$5,110.22
Adjustment:	\$0.00
Total Amount:	\$5,110.22

Yankton

Totals

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	6,142	14,463	104	20,709	\$25,886.25	\$528.90	\$25,357.35	0.70	\$17,750.15
12/2015	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Total		\$17,751.90
							Adjustment		\$0.00
							Total Amou	nt:	\$17,751.90

251,629	541,704	9,126	802,459	\$ 1,003,073.75	\$21,241.15	\$ 981,832.60
	• , . • .	•,•	••=,.••	• .,•••,•.••	· · · · · · · · · · · · · · · · · · ·	÷ •••.,••=.••